?ﬁ> é % é Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
9,401 x 10 = 9,041 x 10 =
10, 536 x 1000 = 1,752 x 100 =
10, 513 x 1000 = 1,476 x 100 =
7,218 x 10 = 3,282 x 10 =
2,339 x 100 = 8,364 x 10 =
7,192 x 1000 = 5,476 x 1000 =
1,916 x 1000 = 4,685 x 1000 =
7,466 % 10 = 5,52 % 1000 =
9,341 x 10 = 5,197 x 1000 =
5,016 x 10 = 9,828 x 10 =
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%ﬁ> é % é Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
9,401 x 10 =94.01 9,041 x 10 =90.41
10, 536 x 1000 = 10536 1,752 x 100 = 175.2
10,513 x 1000 = 10513 1,476 x 100 = 147.6
7,218 x 10 =72.18 3,282 x 10 =32.82
2,339 x 100 = 233.9 8,364 x 10 = 83.64
7,192 x 1000 = 7192 5,476 x 1000 = 5476
1,916 x 1000 = 1916 4,685 x 1000 = 4685
7,466 x 10 = 74.66 5,52 x 1000 = 5520
9,341 x 10 =93.41 5,197 x 1000 = 5197
5,016 x 10 =50.16 9,828 x 10 = 98.28
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